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‘The scale drawing below represent Ole Kiyaye’s Whatisits total surface area in square metres?

plotorland drawn tosscale 1:2000. Whatis the r =%1)
size of his plot n hectares? A8 B.0.88°

A l3ha C.88m D. 880m*

Sem B.32.5ha 24.  Abustravelled at an average speed of 45 km/
C.12ha hr. How long did it travel for 24 seconds?
T D.30ha A.30kilometres B. 1080kilometres
. 300metres D. 10.8metres.

Aratio of cows to goats inan ADC farm is 3:4 25.  Theradius ofabicycle wheel is 49cm. How far
‘while that of goats to sheeep s 6: 7. There are. will it travel if it makes 9,000 revolutions? (="/,)
210sheep in this farm. How many more goats A.2772m B.2772km
than cows are n that farm? C.2.772kilometres  D.0.2772 metres
A.30 B.45 26, Inthefigure below AB=AC=AD. Angle CAD
C.75 D.40 =54lines AB and DCare parallel
Ole Keinan fenced his piece of land shown i 5
below using 5 strands of berbed wire. What was N

the length of wire used in Decametres?

E B C
Whatis the size of angle EBA?
A 1170 B.117.50
A.40000 B.400 C.63 D.1215
C.40 D.4 27. A lomyis tocarry 50 cartons each containing
Lilyis paid a salary of sh. 10500 per month plus 2401ins. If each tin weighs 500g, what is the

‘acommission of 2.5% for any value of goods

abovesh. 20000, How much did she earnina totalload n tome

month when she sold goods worth sh. 240 0007 i D06t
A.sh. 16500 B.sh. 11000 €, 60t D600t
C. sh. 5500 D. 16000 28. A bucket ful of cement has a mass of 19.5kg.
Thecurved surfacearea of the cylindrical ‘When a quarter oft he cement has becn used,
container below is 4400ci. Is heightis 02m. the total weight becomes 15.5kg. Whatis the
Such eylindrical tns are tobe packedina massof an empty bucket?
rectangular box 10cm by Temby lem A3Skg B.akg
@) C.7.5ke D. 16kg
29, Constructatriangle MNP asshown below
02m where NPM=120° NP=Sem and MP =5 4em
M
777772
How many such rectangular boxes can be
packed in the cylindrcal container?
Ao Ty Jedem
C. 350 D. 220
“The diagram below represents a cylindrical " o= d
ollow pipe. Itis S metres long and a diameter
of S6cm, Dropa perpendicular from M to meet
perpendicular bisector of line NMat S. What s
seal the measure of MS?
A.83cm B.4.6cm
o ¢ D.15em
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Evaluate x+y + 2(1-

where
A6, B.2Y,
@3 D.",

The pie-chart below shows how Kizit
his salary of ksh. 14400

Others

How much more did he spenton rentthan food?
A. sh. 2000 B. sh. 4400

C.sh. 2400 D. sh. 800

‘Thearea of he circular end of a pipe s 14'/,
. Water s pouring out ofthe pipe at te rate
of 1.05m per second. Ifthe water remains full
whatis the number of ltres discharged by the
pipe in 50 minutes? (=2

A.4455litres B.44.55litres

C. 4455litres D. 44550litres

Abus eft Weseges for Tangulbe at9.45p.m the
journey took 8hrs 25mins. At what time in
24hour clock system did it arrive at Tangulbei?
A 1810hrs B.0610hrs
C.0120hrs D. 0825hrs

‘The sum of Kiptoo's and Muli’s ages 28years
from now will be 88yers. What is the sum of

theirages now?
A.60years B. 116 years
C. S6years D.32years

Apiece of work is o be done by six men in 20
days. Atfirst the six men worked for 8 days
after which 2men did not turn up for the job.
‘How many more days did the job take?
A.6days B.26 days

C. 10 days D.3 days

‘Whatisthe lowest form of the algebraic
expression given?

2(m+20 Fmedt

42t+m)-5t+4m

A 2m-2 B. 3m
8t+5m 3t+8m
C.3m-8t D.3t+2m

3t+3m 3m+3t
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Nyakundi borrowed a loan of sh. 20000 from a
savings bank which charged compound interest
atthe rate of 12'/,% per annum. He repaid the
loanina period of 1 year 6 months, How much
total interest did he pay?

A.sh.23906.25 B.sh.25312.50

C.sh. 3906.25 D.sh. 5312.50

‘The marked price of a video set is kshs. 20,000
less 10% cash discount. The hire-purchase price
is 120% of cash payment and a deposit of sh.
11600. The instalments are each valuedat sh.
2000 cach. Cheploen bought it on hire purchase
terms. How many instalments did he pay?
A5 B.10

c6 D.7

Onaschool’s price giving day, 2500 guests
attended the ceremony. Each person was given
2300 millitre bottle of soda. How many litres of
sodawere given out o all the guests?

A. 75,000 B. 7500

c.7s D.750

Kiongo had x books while Tony had !/, of the
books Kiongo had. Amil had three times as
many books as Kiongo and Tony had. Which
ofthe followingalgebraic expressions shows the
total number of books for the three boys?
AcxH3,x+3x P X

€.20x

Bx+ x4 3%+, x

D3+ x+ 3%

Ashopkeepersells 10 crates of soda daily. Each
erate contains 24 bottles of soda each of 300ml.
How many cubic metres of soda does hessell in
aweek?
A.0.504m?
C.50.4m*

B.504m’
D. 5040m*

‘The figure below isa triangular prism made of
wood. Whatis is the toal surface area?

T

A.8960cm®
B.5376em’
C.2400en?
D.2208cm?
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44, Thetable below shows the postal charges On which two consecutive days was the number
e 3 : of pamphlets issued the least.?
Ml ass:_ JiSh. ., [t A. Thursday and Friday
EeiEs P |2 | o B. Friday and Saturday
ot over S0g.
Nt toel % | B C. Tuesday and Wednesday
Not over 2350g| 72 0 D.Monday and Tuesday
Notover so0g| 90 | 00 48 Acariscarying five people whose mean weight
Notover Ikg | 125 | 00 is 64kg. One of them whose weight is 6 1kg
Notover2kg | 150_| 00 comes out. Whatisthe mean weightof the
Parcels Not over kg |Sh.200| 00 remaining four men to the nearest whole number?
Not over 2kg |Sh.250| 00 A.64.8kg B.65kg
Notover 3kg |Sh.295| 00 C.60kg D.64.75ke
e[ o 49, Inthe figure below BDEF isa parallclogram
ot overi Sk while ABC is a straight line. Angle ABF = 88"
Wepukulusent 3 letters weighing 45g, 105g and andangle CBD=36"
1.9kg He also sent 2 parcels weighing 3.8kg and A
4.9kg. How much did he pay in the post office?
A.sh. 868 B.sh. 1017 fysse
C.sh. 957 D.sh. 1000 )
45, Thechargesforsendingatelegramaresh. 15.50
for the firsten words of part thereof and sh. 360
1.50 for any extra word. A tax of 18% of the
totalisalso charged. The total amount is also
rounded offto the nearest five cents. How much
did Jepkazi pay tosend the ollowing elegram? c D E
WYCLIFE LAGAT BOX 765 KONGOWEA
'REPORTING FOR TUITION ON 7TH JUNE - angle X0
SEND TUITION FEES JEPKAZI S e mesreloting ot
A.sh.2895 B.5h.27.10 e L
C.sh.27.15 D. sh.28.90 C. 124 D.92 .
46, Inthe figure below AD and GD are straight lines 50.  Thegraph below shows how a motorist
His parallel to IK, angle GFJ = 70", line CE ravelled from town A 0B
=line CD 3
S~ K B
D
A B € °
H i E
3
Whatis the measure of angle ABF? P
A.70° B. 1107 ]
C. 140° D. 120" 8
47. ‘The table below shows the number of pamphlets £
issued to the readers 250
Days No_of pamphleis Issued
i s A
Mon 28 O SO0 2 lpm 2
Tue 38 TIMEINHOURS
Wed 3 What was hisaverage speed between A and B2
Thar E) A.85 km/hr B.100km/hr
Frid 38 C.75kmhr D. 66, km/hr.
Satu_ 23
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STANDARD EIGHT
MATHEMATICS TiMES 2 HOURS
How many groups of five hundreds are in the 1. Adresscosts sh. 500. Ifyou buy more than five
total value of digit 4 inthe number 374 853 9347 dresses you are given a discount of 10% of the
A8 B.80 total. How much did Okulu pay for 6 dresses?
C. 800 D. 8000 A. Sh. 450 B. Sh.2700
Work out C. $h.3000 D. $h.3300
3% 1Y+, +2Y, 12 Whatisthe nextnumber in the sequence?
A3, B.21Y, 67,82,9.7,112,
o2, D.22Y, A 122 B.13.7
Whatis the value of 7.04 as a mixed fraction? C.132 D.127
AT, B.7Y, 13 Wanjirubought 3 trays of eges for Sh. 540
c, .77 during transportation 15 eggs broke. Ifshe sold
‘Whatis the smallest number that can be divided the remaining eggs at sh. 8.50 cach, How much
by6.18and 367 profitdid she make?
A.36 B3 A.sh.225 B.sh.97.50
c6 D18 sh. 150 D.sh.250.50
‘When Patel sells a T-shirt for sh. 200, he makes 14, Threestd8 pupils at Minazi Mircfu primary
aloss of 20%. How much would he sella schaoltonl¢pert ina charity wallc: They
similar shirtto makea profitof 20%? collecteda total of sh. 18200. Kiptek collected
A sh 250 B.sh 220 twiccasmuchas Vicinta who collected four times
C. sh. 300 D. sh. 280 asmuchas Jepkazi. How much did Kiptek collect?
‘The mean mass of 12 std. 8 boys is 45kg. The A 1200 Bashiz 3600
total mass of the first 6 boysis 240k, How Ciah: 2800 D hia600
15, The vegetable garden alongside hasasize of
‘many more kilograms does a boyinthe second
o 1.54 hectares. Whatis the length of N P?

group of6 boys weighthan a boy in the first 6 i Blion
boys? .
i . €.270m D.240m
C. 60kg D.40kg M Wms
‘Whatis the value of t*in the equation below?
to+1+2-2=0
3005
A6 B.3 N :
c.o D.5 16, Vickyboughtthe following itemsata supermaret
Simplify 4(25x +16)-2(5x-22) 4Y, kg of rice @sh. 90
A.90x+108 B.100x+108 a2kg-tin of Kasuku at sh. 250
C.90x- 108 D.90x+20 3rolls of tissue paper for sh. 90
Evaluate: '/, kg packet of salt for sh. 55

(05x52)+14 He paid the bill using one thousand shillings note.

0.04 How much balance did she receive?

A 10 B.40 A.sh. 80 B. sh.47.50
col D.100 C.sh.200 D.sh. 850
Whatis the value of
162x3+18-(6x2)x2 17. Evaluate 0.35% +\/20.25
A3 B.17 A.4.6225 B.12.7
c.962 D.83 €.203725 D.3.622




